7\
AY4
n
1]
=
un
L

6.4
6 L 92 %3 TQ
R G, 12 iy OLE

b ) . @/91/

© 2024 Hansa Armaturen GmbH - www.hansa.com - 16.04.2024

58099113 HANSAPRISMA - Shower system

EAN: 4015474261402

static.hansa.com/58099113

Spare parts
SP58099113
Name Code

1 Shower pipe Chrome 59914045
12 Overhead shower, 250x250 mm 59913875
15 Nozzle plate, 250x250 mm, (-2019) 59913876
17 Screw 59913754
m 0-ring kit 59913808
112 Shower pipe Chrome 59913945
2 Shower pipe holder Chrome 59913947
21 Fixing set 59913946
22 Screw, M5x8, SW2.5 59904755
3 Slide for shower rail Chrome 59913755
42 Strainer 59906859
45 Gasket ring, d 21x12x2 59912304
5.7 Non-return valve 59905714
6 Thermostat 59913950
6.1 Connection nut, G3/4, AF30 59902230
6.2 Nipple 59911075
6.3 Retaining ring, 23.9x15.2x2 59902689
6.4 Filter sealing, G3/4 59911076
7 Eccentric connector, G3/4xG1/2, DN15 59910254
72 Silencer 59904792
14 Cover flange Chrome 59913432
75 Cover sleeve Chrome 59912651

8 Flow control handle Chrome 59913952
8.1 Cover 59913850
82 Screw, M4x8 59913851

83 Adjusting ring 59913940
9 Headpart 59913936
9.1 Fixing screw, SW30 59913941

92 Spindle Chrome 59913689
9.4 0-ring, d 32x2 59912803
95 Inner part 59913942
10 Temperature control handle Chrome 59913938
10.1 Temperature adjustment limiter 59913937
10.2 Locking screw, 38° 59913919

1 Thermostatic cartridge, 3.3 59913871

1 Screw, M6x9.5 59901609
12 Coupling for overhead shower pipe, M16x1, SW10 59913944
121 0-ring, d 15x2.5 59910423
123 0-ring, 9x2 59905095
2.4 Thread nipple, G1/2xM18x1 59911384
NI Flow limiter 59913753


https://static.hansa.com/58099113

